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ad Read the sentence below and identify the part which contains a grammatical error.
Emperor Ashoka (A)/ have conquered Kalinga (B)/ before he embraced Buddhism
(C)/ No error (D).
a A
b. B
c. €
d.
Ans X A (a)
« B. (b
& C.(0)
X D.(d)
Question ID : 6147728946
Status : Answered
Chosen Option : B
Q.2

Choose the correct sentence
a. The poor get poorer:; and the rich get richer.
b. A poor get the poorer; a the rich get richer.
c. Poor get poorer: nich get richer.

d. Poor get the poorer: rich get the nicher

Ans A (a)
X B.(b)
K C.(0)
& D.(d)

Question ID : 6147728950
Status : Answered
Chosen Option : C
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Q.3
Which of the following option is the correct active voice of the sentence given below:
The plenary meeting was postponed.
4. Someone postponed the plenary meeting
b. They postpones the plenary meeting
¢. One has postponed the plenary meeting
d. They postponed the plenary meeting
Ans X A (a)
& B. (b)
2 C.(c)
& D.(d)
Question ID : 6147728941
Status : Answered
Chosen Option : C
Q.4
Fill in the blank with appropriate word from the options below.
He made me my car,
a. move
b. to move
c. moved
d. to have moved
Ans A (a)
X B.(b)
X C.(c)
X D.()
Question ID : 6147728956
Status : Answered
Chosen Option : A
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@ Choose the correct answer after changing the voice of the following sentence:
She has written a novel.
a. She has been written a novel.
b. A novel has been written by her.
¢. A novel had been written by her.
d. A novel was written by her.
Ans X A (a)
« B. (b)
X C.(c)
X D.(d)
Question ID : 6147728952
Status : Answered
Chosen Option : B
Q.6
Choose the correct answer after changing the speech or narration of the following
sentence:
Ramesh said, “Yes, I'll help you, Anaya.”
a. Ramesh agrees to help Anaya.
b. Ramesh said that he will help Anaya.
¢. Ramesh agreed to help Anaya.
d. Ramesh said that I will help Anaya.
Ans X A (a)
X B. (b)
« C. (0
X D.(d)
Question ID : 6147728953
Status : Answered
Chosen Option : A
Q.7
Read the sentence below and identify the part which contains a grammatical error.
The cost of fruits and vegetables (A)/ have risen (B)/ abnormally (C)/this month. (D)
a. A
b. B
[ &
d D
Ans X A. (a)
« B.(b)
X C.©
& D.(d)
Question ID : 6147728945
Status : Answered
Chosen Option : B

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S17D1378/1656310568139283/1...

3/42



6/30/22, 12:47 PM

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S17D1378/1...

as Read the sentence below and identify the part which contains a grammatical error.
Swathi didn’t say (A)/ much after she (B)/ failed in the test. (C)/ Didn’t she? (D)
a. A
b. B
c. C
d D
Ans X A.(a)
X B.(b)
X C.(0)
& D.(d)
Question ID : 6147728944
Status : Answered
Chosen Option : A
Q.9
Fill in the blank with appropriate word from the options below.
I regret so much money.
a. lo spend
b. spending
c. to have spent
d. spent
Ans X A. (a)
« B.(b)
X C.(0)
X D.(d)
Question ID : 6147728957
Status : Answered
Chosen Option : B
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Q.10
Select the option that is closest to opposite in meaning to the underlined word in
the following sentence:
There exists rancour between the two brothers.
4.  animosity
b. harmony
¢. devotion
d. enmity
Ans X A (a)
& B.(b)
X C.(0)
< D. (d)
Question ID : 6147728960
Status : Not Answered
Chosen Option : --
Q1
Read the sentence below and identify the part which contains a grammatical error.
I don’t need (A)/ to go to work today. (B)/ Do L (C)/ No error (D).
a A
b. B
e €
d. D
Ans X A. (a)
& B.(b)
& C.(0)
X D.(d)
Question ID : 6147728943
Status : Answered
Chosen Option : C
Q.12 Read the sentence below and identify the part which contains a grammatical error.
Each employee. (A)/ whom the company has chosen to take part (B) in the
international seminar to be conducted (C)/ 1n the City Hall, are up to the mark. (D).
a A
b. B
c. C
d D
Ans X A (a)
X B.(b)
X C.(c)
& D. (d)
Question ID : 6147728947
Status : Answered
Chosen Option : D
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Q.13
Choose the correct sentence
a. She asked her employer for a day off.
b. She asked to her employer for a day off.
c. 3he asked her employer to a day off.
d. She asked to her employer a day off
Ans @ A (a)
X B.(b)
K C.(0)
& D.(d)
Question ID : 6147728955
Status : Answered
Chosen Option : A
Q.14
Read the sentence below and identify the part which contains a grammatical error.
We shall (A)/respect our (B)/elders (C)/No error (D).
a A
b. B
c. €
d D
Ans A (a)
X B. (b)
X C.(c)
& D. (d)
Question ID : 6147728942
Status : Answered
Chosen Option : A
Q.15
Choose the correct sentence:
a. They entered into the room.
b. They entered to the room.
¢. They entered the room.
d. They entered in the room.
Ans X A (a)
& B.(b)
& C.(0)
& D.(d)
Question ID : 6147728954
Status : Not Answered
Chosen Option : --
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e Select the option that has nearest meaning to the underlined word in the following
sentence:
She unbraided the little girl whe got frightened.
a. Make tails
b. Make up
c. Scolded
d. Handed
Ans X A. (a)
X B.(b)
o« C.(c)
& D.(d)
Question ID : 6147728959
Status : Not Answered
Chosen Option : --
Q17
Choose the correct answer after changing the voice of the following sentence:
The Police have caught the thief.
a. The Police have been caught the thief.
b. The thief have been caught by the Police.
¢. The thief has been caught by the Police.
d. The thief had been caught by the Police.
Ans X A (a)
X B.(b)
o« C.(c)
&K D.(d)
Question ID : 6147728951
Status : Answered
Chosen Option : C
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Q.18
Fill in the blank with appropriate word from the options below.
[ wish 1 his address.
a. know
b. knew
¢. have known
d. did know.
Ans X A (a)
« B. (b)
< C.(0)
< D.(d)
Question ID : 6147728958
Status : Answered
Chosen Option : B
Q.19
Choose the correct sentence
a. She purchased five furnitures.
b. She purchased five items of furnitures.
¢. She purchased five item of furniture.
d. She purchased five items of furniture
Ans X A (a)
& B.(b)
& C. (o)
« D.(d)
Question ID : 6147728949
Status : Answered
Chosen Option : D
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Q.20 Read the sentence below and identify the part which contains a grammatical error
We often hear people say (A)/ that most human beings have not evolved (B) or grow
up enough to stick to truth or non-violence (C)/ No error (D).
a. A
b. B
c. €
d D
Ans X A. (a)
X B.(b)
« C.(c)
& D.()
Question ID : 6147728948
Status : Answered
Chosen Option : C
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Comprehension:

Dostoevsky’s biography was as dramatic as the plots of his novels. Born in
Moscow m 1821, Fyodor was the second son of an army doctor, Mikhail
Andreevich, who practiced at the Marninsky hospital for the poor. Hailing from
a family of clergymen, Mikhail had been raised to the nobility through his state
service, but the family remained impoverished despite his professional ability
and social pretensions. Family finances were further damaged by the purchase
of a small estate near Moscow that failed to yield a decent income, exacerbating
Mikhail Andreevich’s mnaturally irritable temperament. By contrast
Dostoevsky's mother, Maria Fyodorovna, who took charge of the estate whilst
her husband remained in Moscow to work, gained a reputation as a humane and
compassionate landowner. Both parents were devoted to their children’s
education, mstilling in them a love of European and Russian literature as well
as a sohd religious upbringing. Both the religious dimension of Dostoevsky's
novels and his use of Gothic features and melodramatic plots can be traced back

to his childhood reading.

SubQuestion No : 21

.21
: Dostoevsky’s father came from a family of
a. Doctor
b. Engineer
¢. Professor
d. Priest
Ans X A (a)
X< B.(b)
# C.(c)

« D.(d)

Question ID : 6147728962
Status : Answered
Chosen Option : D
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Comprehension:

Dostoevsky’s biography was as dramatic as the plots of his novels. Born in
Moscow m 1821, Fyodor was the second son of an army doctor, Mikhail
Andreevich, who practiced at the Marninsky hospital for the poor. Hailing from
a family of clergymen, Mikhail had been raised to the nobility through his state
service, but the family remained impoverished despite his professional ability
and social pretensions. Family finances were further damaged by the purchase
of a small estate near Moscow that failed to yield a decent income, exacerbating
Mikhail Andreevich’s mnaturally irritable temperament. By contrast
Dostoevsky's mother, Maria Fyodorovna, who took charge of the estate whilst
her husband remained in Moscow to work, gained a reputation as a humane and
compassionate landowner. Both parents were devoted to their children’s
education, mstilling in them a love of European and Russian literature as well
as a sohd religious upbringing. Both the religious dimension of Dostoevsky's
novels and his use of Gothic features and melodramatic plots can be traced back

to his childhood reading.

SubQuestion No : 22

Q.22
What can be traced back to Dostoevsky’s childhood?
a. Race
b. Melodramatic Plots
c. Pleasure
d. Happiness
Ans X A (a)
« B. (b)
& C.(c)
X D.(d)

Question ID : 6147728965
Status : Answered
Chosen Option : B
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Q.23

Ans

Comprehension:

Dostoevsky’s biography was as dramatic as the plots of his novels. Born in
Moscow m 1821, Fyodor was the second son of an army doctor, Mikhail
Andreevich, who practiced at the Marninsky hospital for the poor. Hailing from
a family of clergymen, Mikhail had been raised to the nobility through his state
service, but the family remained impoverished despite his professional ability
and social pretensions. Family finances were further damaged by the purchase
of a small estate near Moscow that failed to yield a decent income, exacerbating
Mikhail Andreevich’s mnaturally irritable temperament. By contrast
Dostoevsky's mother, Maria Fyodorovna, who took charge of the estate whilst
her husband remained in Moscow to work, gained a reputation as a humane and
compassionate landowner. Both parents were devoted to their children’s
education, mstilling in them a love of European and Russian literature as well
as a sohd religious upbringing. Both the religious dimension of Dostoevsky's
novels and his use of Gothic features and melodramatic plots can be traced back

to his childhood reading.

SubQuestion No : 23

Mikhail Andreevich preferred

a. Military Service
b. Farming
¢. Teaching
d. Travelling

o A (a)

X B.(b)

X C.(c)

& D.(d)

Question ID : 6147728964
Status : Answered
Chosen Option : A
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Comprehension:

Dostoevsky’s biography was as dramatic as the plots of his novels. Born in
Moscow m 1821, Fyodor was the second son of an army doctor, Mikhail
Andreevich, who practiced at the Marninsky hospital for the poor. Hailing from
a family of clergymen, Mikhail had been raised to the nobility through his state
service, but the family remained impoverished despite his professional ability
and social pretensions. Family finances were further damaged by the purchase
of a small estate near Moscow that failed to yield a decent income, exacerbating
Mikhail Andreevich’s mnaturally irritable temperament. By contrast
Dostoevsky's mother, Maria Fyodorovna, who took charge of the estate whilst
her husband remained in Moscow to work, gained a reputation as a humane and
compassionate landowner. Both parents were devoted to their children’s
education, mstilling in them a love of European and Russian literature as well
as a sohd religious upbringing. Both the religious dimension of Dostoevsky's
novels and his use of Gothic features and melodramatic plots can be traced back

to his childhood reading.

SubQuestion No : 24

Q.24
Dostoevsky's father did practice at
a. Common Hospital
b. Berlin Hospital
¢. Marinsky Hospital
d. Church Hospital
Ans X A (a)
& B.(b)
+ C.(c)
X D.(d)

Question ID : 6147728963
Status : Answered
Chosen Option : C
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Q.25

Ans

Comprehension:

Dostoevsky's biography was as dramatic as the plots of his novels. Born in
Moscow m 1821, Fyodor was the second son of an army doctor, Mikhail
Andreevich, who practiced at the Marninsky hospital for the poor. Hailing from
a family of clergymen, Mikhail had been raised to the nobility through his state
service, but the family remained impoverished despite his professional ability
and social pretensions. Family finances were further damaged by the purchase
of a small estate near Moscow that failed to yield a decent income, exacerbating
Mikhail Andreevich’s mnaturally irritable temperament. By contrast
Dostoevsky's mother, Maria Fyodorovna, who took charge of the estate whilst
her husband remained in Moscow to work, gained a reputation as a humane and
compassionate landowner. Both parents were devoted to their children’s
education, mstilling in them a love of European and Russian literature as well
as a sohd religious upbringing. Both the religious dimension of Dostoevsky's
novels and his use of Gothic features and melodramatic plots can be traced back
to his childhood reading.

SubQuestion No : 25

Maria took the responsibility of

a. Mariinsky Hospital
b. Moscow Hospital
¢. The estate
d. Finance

X A (a)

& B.(b)

+ C.(c)

X D.(d)

Question ID : 6147728966
Status : Answered
Chosen Option : C
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Q.1
Detroit. USA is known for which of the following industries?
a. Cement
b. Steel
c. Film production
d. Automobile
Ans X A. (a)
X B. (b)
X C.(c)
« D.(d)
Question ID : 6147728977
Status : Answered
Chosen Option : B
Q.2
Who among the following received both Bharat Ratna and Nishane Pakistan?
4. Maulana Abdul Kalam Azad
b. Ayub Khan
¢. A.P.J.Abdul Kalam
d. Morargji Desai
Ans X A (a)
X B.(b)
X C.(0
« D.(d)
Question ID : 6147728971
Status : Not Answered
Chosen Option : --
Q.3
The northern part of the west coast 1s known as
a. Coromandel Coast
b. Malabar Coast
¢. Konkan Coast
d. Northem Circars
Ans X A (a)
X B.(b)
« C.(c)
X D. (d)
Question ID : 6147728989
Status : Answered
Chosen Option : B
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Q.4
Tamil is the official language of
a. Puducherry
b. Dadra and Nagar Havel
¢. Daman and Diu
d. Delln
Ans A (a)
< B.(b)
X C.(c)
A D.(d)
Question ID : 6147728984
Status : Not Answered
Chosen Option : --
Q.5
Tachophobia is the fear of
a. Technology
b. Sleep
¢. Thunder
d. Speed
Ans X A. (a)
< B.(b)
X C.(c)
& D.(d)
Question ID : 6147728972
Status : Answered
Chosen Option : C
Q.6
Yamuna is to Delhi, 1s to Karanchi.
a. Chenab
b. Neelam
c. Indus
d. Tigrs
Ans X A (a)
< B.(b)
« C.(c)
A D.(d)
Question ID : 6147728970
Status : Answered
Chosen Option : A
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Q.7
The country with the longest coastline in the world 1s
a. Norway
b. Australia
¢, Canada
d. Russia
Ans X A (a)
& B.(b)
« C.(c)
2/ D.(d)
Question ID : 6147728983
Status : Answered
Chosen Option : B
Q.8
Which is the largest of all deserts?
a. Thar
b. Sahara
c. Kalahar
d. Arabian
Ans X A (a)
" B. (b)
< C.(c)
< D.(d)
Question ID : 6147728982
Status : Answered
Chosen Option : B
Q.9
The disease caused by virus is
4. Typhoid
b. Cholera
¢. Common cold
d. Malana
Ans X A (a)
& B.(b)
« C.(c)
X D. (d)
Question ID : 6147728973
Status : Answered
Chosen Option : C
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Q.10
Pen name of Rabindra Nath Tagore ’
a. Bhanu Simha
b. Kabiguru
c. Gurudev
d. All of the above
Ans X A (a)
& B.(b)
X C.(c)
" D.(d)
Question ID : 6147728979
Status : Not Answered
Chosen Option : --
Q.11
Which city is known as “City of Blood® in India?
a. Jaisalmer
b. Jodhpur
¢. Yavatmal
d. Tezpur
Ans X A (a)
< B.(b)
X C.(0
« D.(d)
Question ID : 6147728975
Status : Not Answered
Chosen Option : --
Q.12
The Lalita Kala Akademu 1s devoted to the promotion of:
a. Fine Arts
b. Literature
c. Music
d. Dance and Drama
Ans o A (a)
< B.(b)
X C.(0
X D.(d)
Question ID : 6147728985
Status : Not Answered
Chosen Option : --
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Q.13
The legal advisor to state government is known as
a. Advocate General
b. Chief advocate
c. State Law Officer
d. None of the above
Ans o A (a)
< B.(b)
X C.(0
& D.(d)
Question ID : 6147728980
Status : Not Answered
Chosen Option : --
Q.14
Which of the following continent is the smallest?
a. Asia
b. Australia
c. Africa
d. North America
Ans X A (a)
" B. (b)
# C.(c)
X D. (d)
Question ID : 6147728981
Status : Answered
Chosen Option : B
Q.15
Rail Coach Factory is situated in
a. Ahmedabad
b. Waranasi
¢. Kapurthala
d. Chenna
Ans X A (a)
& B.(b)
" C.(c)
X D.(d)
Question ID : 6147728969
Status : Not Answered
Chosen Option : --
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Q.16
Orange prize is given in the field of
a. Sports
b. Medicine
¢. Literature
d. All of the above
Ans X A (a)
X B. (b
« C.(c)
X D.(d)
Question ID : 6147728978
Status : Not Answered
Chosen Option : --
Q.17
Thang Ta is a martial art of which of Indian state?
a. Sikkim
b. Odisha
¢. Manipur
d. Assam
Ans X A (a)
X B.(b)
« C.(c)
& D.(d)
Question ID : 6147728988
Status : Not Answered
Chosen Option : --
Q.18
Article 370 of the constitution is applicable to the state of
a. Nagaland
b. Mizoram
¢. Jammu and Kashmir
d. Manipur
Ans X A (a)
& B.(b)
« C.(c)
& D.(d)
Question ID : 6147728968
Status : Answered
Chosen Option : C
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Q.19
The term ‘Gambit’ is associated with which of the following sports
a. Chess
b. Tenms
c. Basket ball
d. Baseball
Ans o A (a)
< B.(b)
X C.(c)
X D.(d)
Question ID : 6147728974
Status : Answered
Chosen Option : A
Q.20
The Vivekananda rock Memeonal 1s located in ;
a. Andaman
b. Srinagar
¢. Kanyakumari
d. Ladakh
Ans X A (a)
X B. (b)
& C.(c)
2 D.(d)
Question ID : 6147728986
Status : Not Answered
Chosen Option : --
Q.21
The Arjuna Awards were mstituted in the year
a. 1961
b. 1965
c. 1971
d. 1968
Ans o A (a)
# B.(b)
K C.(c)
X D.(d)
Question ID : 6147728967
Status : Not Answered
Chosen Option : --
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Q.22
Which monument 1s known as *The National Monument of Imda’?
a. India Gate
b. Red Ford
c. Taj Mahal
d. Gateway of India
Ans o A (a)
< B.(b)
X C.(0
& D.(d)
Question ID : 6147728976
Status : Answered
Chosen Option : C
Q.23
Where 1s the Film and Television Institute of India located?
a. Ahmedabad
b. Mysore
¢. Mumbai
d. Pune
Ans X A (a)
& B.(b)
# C.(c)
" D.(d)
Question ID : 6147728987
Status : Answered
Chosen Option : C
Q.24
Wheo was the first Vice-Chairman of the Niti Aayog?
a. Arvind Panagariva
b. Raghuram Rajan
¢. Chandrashekhara Subramanyam
d. Rajiv Kumar
Ans # A (a)
& B.(b)
< C.(0
< D.(d)
Question ID : 6147728991
Status : Not Answered
Chosen Option : --
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o World Development Report is published by
a. United Nations Organisation
b. Asian Development Bank
¢. World Bank
d. World Trade Organisation
Ans X A (a)
X B.(b)
« C. (0
& D.(d)

Question ID : 6147728990
Status : Answered
Chosen Option : C

Section : Logical and Analytical Ability

Q1
If the ratio of cost price and selling price of an article be 10:11, the percentage
of profit is:
a. 8
b. 10
c. 1l
d. 15
Ans X A (a)
& B.(b)
X C.(c)
& D.()

Question ID : 6147729008
Status : Answered
Chosen Option : B
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Q.2
Choose out the odd one.
a. Infrared Rays
b. Sunrays
c. X-rays
d. Ultraviolet rays
Ans X A (a)
& B.(b)
X C.(c)
& D.()
Question ID : 6147728994
Status : Answered
Chosen Option : B
Q3
The number obtained by interchanging the two digits of a two-digit number 1s
lesser than the original number by 54. If the sum of the two digit of the
number is 12, then what is the onginal number?
a. 28
b. 39
c. 82
d. None of these
Ans X A (a)
& B.(b)
2 C.(c)
& D.(d)
Question ID : 6147729007
Status : Answered
Chosen Option : D
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Q.4
If in a certain language. TRIANGLE is coded as SQHZMFKD, which word
would be coded as DWZLOKD?
a. EXAMPLE
b. FIGMENT
c. DISMISS
d. DISJIOIN
Ans A (a)
< B.(b)
X C.(c)
X D.(d)
Question ID : 6147728995
Status : Answered
Chosen Option : A
Q.5
Of four members whose average is 60, the first is one-fourth of the sum of the
last three. The first number 1s
a. 15
b. 42
c. 45
d. 48
Ans X A (a)
# B.(b)
< C.(c)
« D.(d)
Question ID : 6147729006
Status : Answered
Chosen Option : D
Q.6
A basket contains 6 blue, 2 red, 4 green and 3 yellow balls. If 5 balls are picked
up at random, what is the probability that at least one 1s blue?
137
a. —
143
e o
455
9
c. —
91
2
L~
Ans A (a)
< B.(b)
X C.(c)
X D.(d)
Question ID : 6147729016
Status : Answered
Chosen Option : D
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Q.7
A, B, C. D and E are five friends. A is shorter than B but taller than E. C is the
tallest. D is shorter than B and taller than A. Who has two persons taller and two
persons shorter than him/her?
a A
b. B
c: €
d D
Ans X A (a)
X B.(b)
/< C.(0)
« D.(d)
Question ID : 6147728998
Status : Answered
Chosen Option : D
Q.8
Deepak has a brother Anil. Deepak 1s the son of Prem. Bimal 1s Prem’s father.
In terms of relationship, what 1s Anil of Bimal?
a. Son
b. Grandson
¢. Brother
d. Grandfather
Ans X A. (a)
& B.(b)
K C.(c)
& D.(d)
Question ID : 6147728997
Status : Answered
Chosen Option : B
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Q.9
An urn contains 6 red, 4 blue, 2 green and 3 yellow marbles. If four marbles are
picked up at random, what is the probability that 1 is green, 2 are blue and | is
red?
13
a —
35
24
b. e
11
6y s
1
d =
Ans X A (a)
" B.(b)
X C.(c)
2 D.(d)
Question ID : 6147729015
Status : Answered
Chosen Option : B
Q.10
‘Wnite Choose the correct alternatives.
Bird : Wing : : Fish: ?
a. Gill
b. Fin
c. Tal
d. Scale
Ans X A (a)
« B. (b)
# C.(0)
< D.(d)
Question ID : 6147728993
Status : Answered
Chosen Option : B
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Q.11
A path of uniform width runs round the inside of a rectangular field 38m long
and 32 m wide. If the path occupies 600 m?, then the width of the path is:
a Sm
b. 10m
c. 1RB75m
d 30m
Ans A (a)
< B.(b)
X C.(0
X D.(d)
Question ID : 6147729014
Status : Not Answered
Chosen Option : --
Q.12
In one hour, a boat goes 11 km along the stream and 5 km against the stream.
The speed of the boat in still water (in km/hr)is .
a 3
b. 5
c. 8
d 9
Ans X A (a)
# B.(b)
« C.(c)
X D. (d)
Question ID : 6147729011
Status : Answered
Chosen Option : C
Q.13
Ifv1369 ++.0615 + x = 37.25, then x is equal to:
a. 1072
b. 1072
& 1073
d. None of these
Ans X A (a)
X B.(b)
« C.(c)
& D.(d)
Question ID : 6147729005
Status : Answered
Chosen Option : D

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S17D1378/1656310568139283...

28/42



6/30/22, 12:47 PM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S17D1378/1...

Q.14
A man and a boy together can do a certain amount of digging in 40 days. Their

speeds in digging are on the ratio of 8:5. How many days will the boy take to
complete the work if engaged alone?

a. 52days
b. 68 days
c. 80 days
d. 104 days
Ans X A (a)
X B.(b)
X C.(
« D. (d)

Question ID : 6147729009
Status : Answered
Chosen Option : D

Q.15
Ram borrows Rs 520 from Gaurav at a simple interest of 13 % per annum. What

amount of money should Ram pay to Gaurav after 6 months to be absolved of
the debt?

a. Rs353.80
b. Rs453.80
c. Rs552.80
d. Rs 55380

Ans X A (a)
X B.(b)
& C. (o)
" D.(d)

Question ID : 6147729012
Status : Answered
Chosen Option : D
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Q.16
Samaira, Mahira and Kiara rented a set of DVDs at a rent of Rs 578. It they
used it for 8 hours, 12 hours and 14 hours respectively, what is Kiara's share of
rent to be paid?
a. Rs192
b. Rs204
c. Rs2l15
d Rs238
Ans X A (a)
X B. (b)
X c.(
o D.(d)
Question ID : 6147729000
Status : Answered
Chosen Option : D
Q.17
A man riding his bicyele covers 150 meters in 25 seconds. What is his speed in
km per hour?
a. 20
b. 21.6
e 23
d. -23
Ans X A. (a)
« B.(b)
X C.(c)
2 D.(d)
Question ID : 6147729010
Status : Answered
Chosen Option : B
Q.18
6. 11,21, 36, 56,7
a. 42
b. 51
c. Bl
d. 91
Ans X A. (a)
X B. (b)
« C.(c)
X D.(d)
Question ID : 6147728992
Status : Answered
Chosen Option : C
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Q.19
(36.54)° - (3.26)°
z =40
a. 3308
b. 4
c. 3308
d. 3308
Ans X A (a)
X B.(b)
« C.(c)
& D.(d)
Question ID : 6147729004
Status : Answered
Chosen Option : C
Q.20
A, B, C and D are four consecutive even numbers respectively and their
average is 63. What 1s the product of A and D?
a. 3968
b. 4092
c. 4216
d. 4352
Ans X A (a)
& B.(b)
& C.(0)
2 D.(d)
Question ID : 6147729001
Status : Answered
Chosen Option : C
Q.21
15x14 _ .
07
a 0.7
b. 24
c. 35
d. None of these
Ans X A (a)
X B.(b)
K C.(c)
o D.(d)
Question ID : 6147729003
Status : Answered
Chosen Option : D
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Q.22
In an examination. Raj got more marks than Mukesh but not as many as Priva.

Priya got more marks than Gaurav and Kavita. Gaurav got less marks than
Mukesh but his marks are not m lowest in the group. Who 1s second in the
descending order of marks?

a. Priya
b. Kavita
c. Raj

d. Cannot be determined

Ans X A (a)
& B.(b)
« C.(c)
2 D.(d)

Question ID : 6147728999
Status : Answered
Chosen Option : C

Q.23
Pointing towards Rita, Nikhil said I am the enly son of her mother’s son.” How

is the Rita related to Nikhil?
a. Aunt
b. Niece
¢. Mother

d. Cousin

Ans @ A (a)
X B.(b)
K C.(0)
X D.()

Question ID : 6147728996
Status : Answered
Chosen Option : A
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Q.24
A towel, when bleached, was found to have lost 20% of its length and 10% of
its breadth. The percentage of decrease mn area 1s
a. 10%
b.  10.08%
c. 20%
d 28%
Ans X A (a)
& B.(b)
X C.(c)
« D.(d)
Question ID : 6147729013
Status : Answered
Chosen Option : D
Q.25
Arrange the given words in a meaningful sequence and then choose the most
appropriate sequence from amongst the alteratives provided below:
l.Country 2. Furmiture 3. Forest 4. Wood 5. Trees
a 1,3.5,4,2
b. 1,4,3,2,5
c. 2,43 1,5
d. 52314
Ans A (a)
X B.(b)
X C.(0)
& D.(d)
Question ID : 6147729002
Status : Answered
Chosen Option : A

Section : Management Aptitude and Communication Skills
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Q.1
For short term borrowing, Government of India makes use of the following
financial instrument.
a. Commercial Bills of Exchange
b. Commercial Papers
c. Certificates of Deposits
d. None of the above
Ans X A (a)
X B. (b)
K C.(c)
« D.(d)
Question ID : 6147729025
Status : Answered
Chosen Option : D
Q.2
Which of the following activities is not an auxiliary activity to trade?
a. Advertising
b. Selling
c. Financing
d. Insurance
Ans X A (a)
« B.(b)
K C.(0)
X D. (d)
Question ID : 6147729018
Status : Answered
Chosen Option : D
Q.3
Which of the following is not a social responsibility of business?
a. Economic
b.  Administrative
¢. Legal
d. Ethical
Ans X A (a)
" B. (b)
K C.(c)
& D.(d)
Question ID : 6147729023
Status : Answered
Chosen Option : A
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Q.4
Financial Markets in India are regulated by
a. Indian Capital Markets Regulating Commission
b. Finance Commission
¢. Securities Exchange Board of India
d. Competition Commission of India
Ans X A (a)
X B. (b)
« C.(c)
X D.(d)
Question ID : 6147729024
Status : Answered
Chosen Option : C
Q.5
Maximum amount of loan extended under the Standup India Scheme 1s:
a. 100 Crores
b. 10 Crores
¢. | Crore
d. 10 Lakhs
Ans X A. (a)
< B.(b)
« C.(c)
X D. (d)
Question ID : 6147729037
Status : Answered
Chosen Option : B
Q.6
Packaging facilitates:
a. Product identification
b. Product Protection
¢. Product Promotion
d. All the above
Ans X A (a)
X B.(b)
< C.(0
o D.(d)
Question ID : 6147729031
Status : Answered
Chosen Option : D
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Q7
The business risk may be due to
a. Natural factors
b. Managerial factors
¢. Economic factors
d. All of the above
Ans X A (a)
X B.(b)
K C.(c)
« D.(d)
Question ID : 6147729019
Status : Answered
Chosen Option : D
Q.8
Which public sector organization has gone for Initial Public Offer of its shares
m May 20227
a. New India Insurance
b. Bank of Baroda
c. Life Insurance Corporation of India
d. Paym
Ans X A (a)
X B.(b)
« C.(c)
& D.(d)
Question ID : 6147729028
Status : Answered
Chosen Option : C
Q.9 — ;
Capitalist economy with absolute freedom to demand and supply side agents
may lead to
a. Monopoly
b. Business cycles
¢. Inequalities in living standards
d. All of the above
Ans X A (a)
X B.(b)
K C.(c)
o D.(d)
Question ID : 6147729035
Status : Answered
Chosen Option : D
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Q.10
The origins of informal organization can be traced to
a. Organizational policies
b. Work requirements
¢. Social interactions
d. All of the above
Ans X A (a)
X B.(b)
« C.(c)
% D. (d)
Question ID : 6147729039
Status : Answered
Chosen Option : C
Q.11
Which of the following are among the 14- principles of Fayol?
a. Discipline
b.  Equty
¢. Sell esteem
d. Botha&b
Ans X A. (a)
X B. (b)
X C.(c)
« D.(d)
Question ID : 6147729038
Status : Answered
Chosen Option : D
Q.12
Who is the MD and CEO of National Securities Depository Limited
(NSDL) at present?
a. Chitra Ramachandran
b. Chandana Kochhar
¢. Padmaja Chunduru
d. Shanti Lal Jain
Ans X A (a)
X B.(b)
« C.(c)
X D.(d)
Question ID : 6147729040
Status : Not Answered
Chosen Option : --
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Q.13
Network of informal communication 1s known as
a. grapevine
b. informal network
¢. communication network
d. noise
Ans A (a)
& B.(b)
X C.(0)
2 D.(d)
Question ID : 6147729032
Status : Answered
Chosen Option : A
Q.14
Current liabilities usually are those liabilities which are due for payment
a. within 3 months
b. within 45 days
¢. within a year
d. within 6 months
Ans X A. (a)
X B. (b)
« C.(c)
& D.(d)
Question ID : 6147729030
Status : Answered
Chosen Option : C
Q.15
In India, decides monetary policy.
a. Ministry of Finance
b. Umon Cabinet
¢. Department of Banking Operations
d. MNone of the above
Ans X A.(a)
& B.(b)
X C.(0
" D.(d)
Question ID : 6147729036
Status : Answered
Chosen Option : D
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Q.16
Which of the following type of company 1s not included in the types of
companies mentioned in the company law in India?
a.  Public Limited Company
b. Not for Profit company
¢. Mid Cap Company
d. One Person Company
Ans X A. (a)
X B.(b)
¥ C.(0)
X D.(d)
Question ID : 6147729021
Status : Answered
Chosen Option : C
Q.17
Marketing mix does not include
a. DPrice
b. Production
c. Promotion
d. Place
Ans X A. (a)
« B. (b)
X C.(0)
X D.(d)
Question ID : 6147729027
Status : Answered
Chosen Option : B
Q.18
Though business and employment are meant for earning livelihood they are
different in terms of
a. Reward or return
b. Risk
c. Requirement of capital
d. All the above
Ans X A. (a)
& B.(b)
< C.(0)
" D.(d)
Question ID : 6147729017
Status : Answered
Chosen Option : D
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Q.19 . dimn) i
Which of the following is not a feature of Company form of business
organization?
a. Separate legal entity
b. Perpetual existence
¢.  Oligarchic management
d. Limited lhability
Ans X A (a)
X B. (b)
& C.(0)
& D.(d)
Question ID : 6147729022
Status : Answered
Chosen Option : C
Q.20
Which of the following is not a type of plan?
a. Strategy
b. Policy
c. Premise
d. Rule
Ans X A (a)
X B.(b)
& C.(0)
& D.(d)
Question ID : 6147729041
Status : Answered
Chosen Option : D
Q.21
The aim of ‘marketing” is to
a. Maximize profit
b. Maximize sales
¢. Create value for customers’
d. None of the above
Ans X A (a)
X B.(b)
« C.(c
X D.(d)
Question ID : 6147729026
Status : Answered
Chosen Option : C
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Q.22
Partner by holding out
a. contributing to capital only
b. contributes to managing the affairs of business but not capital
¢. shares profits but not losses
d. neither contributes to the capital nor takes part in decision making
and profits
Ans X A (a)
X B. (b)
K C.(c)
« D.(d)
Question ID : 6147729020
Status : Not Answered
Chosen Option : --
Q.23
Which among the following is the most hiquid asset?
a. Marketable securities
b. Finished goods
c. Debtors
d. Bills receivable
Ans A (a)
X B.(b)
K C.(c)
& D.(d)
Question ID : 6147729029
Status : Answered
Chosen Option : A
Q.24
Gestural communication 1§ communication
a. verbal
b. non-verbal
c. bothad&hb
d. neitheranorb
Ans X A (a)
" B.(b)
X C.(c)
& D.(d)
Question ID : 6147729033
Status : Answered
Chosen Option : B
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Q.25

Ans

A proposal placed for discussion in a meeting is called

X A (a)
« B.(b)
& C. (o)
< D.(d)

d.

b.

Resolution
Motion
Proposed minute

None of the above

Question ID : 6147729034
Status : Answered
Chosen Option : B
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